"thZhR"FES RS H
Installation and Safety Guide
LMC Series Linear Motor

Thank you for choosing HIWIN linear motor product. Read and understand
the motor specification, the user manual, and the Safety/Warning Notice
statements before installing and using the product.

1- Mechanism interface accuracy

Safety symbols
Y
Caution Risk of Caution, strong Caution, Don’t Touch
electric shock magnetic field hot surface

* Precautions and Warning

1. Before using this product, be sure to read and understand
the user manual. Strictly adhere to the statements given in
the manual. HIWIN is not responsible for any damage,
accident, or injury caused by incorrect handling.

. Before installing and operating this product, perform
cosmetic inspection. If any signs of damaged, please contact
HIWIN customer service or local agent.

. The product designs are based on structural calculations,
computer simulations and experimental testing. Do not
disassemble or modify product by oneself without
permission from HIWIN.

N

w

. Do not install forcer assembly, before you ensure that the
power has been disconnected, otherwise there is risk of
electrical shock.

ol

. The magnetic attraction between the magnet and other
magnetic or ferrous materials is extremely high. Keep fingers
and other body parts away that are wearing magnetic objects
(steel objects) from the stators to avoid injury by the magnetic
attraction.

. Keep out of reach of children from handling this product.
. Anyone with a pacemaker or A.I.C.D. is prohibited to use this

DANGERQUS product.

pr B

~ o~

% User Guide Criteria

2- Installation step

1. Stator assembly has strong magnet field, be sure to handle
with care.

. Put warning labels on the top surface of stator assembly for
reminder of magnetic dangers.

N

(a) 3. Keep magnetic storage media or precision instrument away
o from the product to avoid damage caused by magnetic fields.
(i.e. magnet scale, watch, credit card and magnetic response
device).
4. During assembly of stator to system structure, keep any

magnetic material at a distance
During assembly, avoid using magnetic tools and screws.

o

Do not bend or damage the cables of forcer assembly.

. Do not run the continuous current of forcer higher than
specified in datasheet.

Be sure to confirm that there is no interference with other
components in operation. And confirm that the cable bending
radius is large enough to prevent reducing the life of the
cables.

9. When abnormal smell, noise, smoke and vibration is
detected, press emergency stop button and turn off power.
10. The product can only be repaired by HIWIN engineers. Please

send the product back to HIWIN if there is any unusual
phenomenon.
11. A one year guarantee is provided from the date of delivery.
HIWIN will not be held responsible for replacing or maintaing
product which has been incorrectly handled [please refer to
the notes and instructions in the operation manual) or
damage from natural disasters.

~o

5

@ 12. Do not touch the forcer or stator during operation.

DANGEROUS
Dant Touch

13. Operate within specified temperature range.

14. After finishing operation, allow forcer to cool down sufficiently
(in a 25°C room temperature) before working around the
product, to avoid getting burned.

2=-3 Use screw @ to install forcer plate @ on guide block 0®. 2='7 Check that the forcer can move freely over the entire stoke after

assembly is finished .

| Refer to Appendix B for table of screw torques to

= assemble stator and forcer.
(5 [0.02mmiz00mm] [57] 0 62mmia00mm]
: J | [#/]0.02mm/300mm] A]
] orcer
—{Forcer]

Fig1. Installation Interface geometric accuracy

1-1 Installation interface with stator should have flatness of
0.02mm per 300mm, as shown in Fig1.
Regarding screws depth and pitch, please refer to Catalog.

1 -2 Installation interface with forcer should have flatness of
0.02mm per 300mm and accuracy of 0.02mm per 300mm
with reference to datum A as shown in Fig1.

2-4 Move forcer plate 0 to the left side to ease installation of

H0.1
forcer @ . * APPENDIX A
; S seelom
| -
! ' oW e e
[Stator— | /7 " LForcer LMCA 745 =04 1
LMCB 94.5 =0.4 1
© |-c2z02 LMCC 117.5 =04 1
Fig2. Forcer and stator assembled dimension LMCD 105 >0.4 1.2
LMCE 125 =0.4 1.2
1 =3 Notice H, G1 and G2 dimensions between forcer and stator LMCF 172 >04 1.2
after assembly, they will impact linear motor performance
and reliability, please refer to Appendix A and Fig2. LMC-EFC 68.5 =04 13
2=5 Check that the forcer @) can move freely over the entire stoke LMC-EFE 93 =04 1.3
and stop on right side for another stator assembly.
* APPENDIX B

Please reference 1=3 after assembling forcer and
A stator, please note air gap between forcer and stator.

Refer to Appendix B for table of screw torques to

2=" Clean stator surface by using disposable cotton rags applied with zzsenilble skior g forcer.

allowed cleaning liquid such as isopropanol alcohol (95% Vol.)

M3x0.5P 58
M4x0.7P 36.7
M5x0.8P 70.6
Méx1.0P 124
M8x1.25P 301

2=2 Install right side of stator @ to base frame @by screw @).
Warning signs label of stator is required to be placed 2=6 Assemble every stator { by fixing on base frame ®
on the top surface of stator.

Refer to Appendix B for table of screw torques to

Please be careful when handling the stator assembly
assemble stator and forcer.

to avoid getting clamped.

HIWIN. HIWIN MIKROSYSTEM CORP.

Motion Control and system Technotogy  NO.6, Jingke Central Rd.,
Taichung Precision Machinery Park,
Taichung 40852, Taiwan
Tel: +886-4-23550110
Fax: +886-4-23550123
www.hiwinmikro.tw
business@hiwinmikro.tw

DLM834 Original © FORM LMCUO01-1405



Please refer to the other side for English version

EHORIMCELEERS RSl I

RSB AN T EF DIVRIEHE - BERRFRIES |
ERAHBERSRIBFERFMAED B THlREsL

2-3 [EFREH @ KEISE @ ZENRIETHO £ - 2-7 1B5E5ER - BEE T EERETI TSRS -

/\ smEETEs BB SRS -

ETEPLIENT © (7] 0.02mmiz00mm}— [ [£7]0.02mm/300mm|
| J [ [4/]0.02mm/300mm] A]
ZETR —@FHEE]
m
FE NWEEE SRt KE=E@ B
o 1-1 EEFESHTER EERA)
* ERREESEIR

1. ERFERB - FSHULEHRAERFM  RERE
ERFERZREZKSIE  FRTREETTRE
EHZIBE  BATEEZEE -

2. BRERUERFERR - TRERENGEEE
WEEIE - SREMREER  BIARART
NESHEIHE RS o

3. R7BETHERELER - AT ERIIEBIE
BEE ENERRERAR  WHEDEREKSE
EAEREZH - BTFRIANELES -

> P

4 ZRETHERIDERERAE SUBEIEE -

1. EFHHEEBMANEES - LA LAY -

5. #HEF - SR TR T RRIRH -

A

6. BITHESBIBIRE D NIRRT -

7. FDRIIEEEHEERECTEXEEER -

8. BN FHEHSETEEPAS HHEIEMES
EEEBRESHE BN EH¥E  DIBRREE
IREFaFE

9. 5 EEN ) ERIFTARESHER  BE
B85 « AEEBOIRE > FIANFILEE RS
iR ©

10. ERBAEERSINN  B27BTEE - FREHEART
SREITASHIETEOE TR -

M. FERBEMBE-—FARBREVRE - HRULHR
ARAEER FE2REARBEIIRHLEFE)
C RERXRUTERNERER - TRITTEER
BEFARMEIEERIET -

13 FREREFRIIREN -
14. BEEIDEBRFEHERRD0 CREETIFE - LUl
=]

BEE -

T B A [0.02mm/300mm] + (0E—)

1-2 sEMiEFEEHZER
ERTEEER  WTTREEEA -
FIRER . (nE—)

H+0.1

G1

ESHE - BFHE

-

O] G240.2

2- ZERIEF

@@
N

2-2 {FREH @ BRGRETES @ HER O 155 -

EFESITEFTHL -

SHMIEIE SRS IRFEDERERS IRHUERB -

SHENE S S IRMIEDREFSIRMIIRB

2-6 EEEESHEE O EHRER @ £ -

5. RERIER - BEFHIS CBENHEBTS B MEFEERTNE 0.
HSEmEE - s LMCF 172 =04 12
1-3usbEsask MEHEEHEFHIRY 2-5 SIERBI BT @  KECHRRDETESEES IMC-EFE 93 =04 13
6 %E%%ﬁ%}g%§:fzutﬂ¥ﬁgﬁ$éz ° (H&G1 &Gz) ’ HERG—TEH?} EEm Eﬁ%ﬁ“’?q‘i%%zq&ﬁb&a_{ q:tﬁi: : jﬁj‘j{%tﬁl—?_%ﬁﬁ%%ﬁ#i °
& EELRERS  BLERAES £E - (H4G18&G2EBSRNIRA) GIED) » BT TSR
> 7. RENREIRE  BICERAES - = PR - * HiskB
A\ FERI-3mETiaaiags - BRI LEDE
* ZEERREE FEZRY - _

2. ESAESIERH L - e e s \ M3x0.5P 15.3
3. MR RE BT MESE , A 2-1 f@ﬁ@ﬁz#iﬁﬁ?ﬁ;ﬁﬁ*ﬁ (95% T ZEFEHE) A5 RN EIER Mé4x0.7P 36.7
Q ER - UBEBUIHEE - QlESTE - SRE g e M5x0.8P 70.6
Eﬁl!@%---.éaKE‘ﬁﬁ ) Méx1.0P 124
=4 = st =, ZE:FH* u:g ST ESST o
4. ESHESIEIEEE - BB ST FER M8x1.25P 301

HIWIN.

RNERWARMRIDBRAT

wotin conrel and ysem Tecnoesy —— HIWING MIKROSYSTEM CORP.
o 12 M0 B80S » 2 FIBISE) « EFHES - 408525 MR E TR EFERI IR 65
s Tel : (04) 2355-0110

Fax : (04) 2355-0123
www.hiwinmikro.tw
business@hiwinmikro.tw

DLM833 Original © FORM LMCU01-1405



